	CONTRACTOR/CITY				GE REED DESTO		OMPANY CKTON
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION	1	LS	\$8,000.00	\$8,000.00	\$92,000.00	\$92,000.00
2	NOTICE OF INTENT	1	LS	\$500.00	\$500.00	\$1,500.00	\$1,500.00
3	PERMIT PREPARATION	1	LS	\$475.00	\$475.00	\$4,000.00	\$4,000.00
4	WATER POLLUTION CONTROL	1	LS	\$6,700.00	\$6,700.00	\$14,000.00	\$14,000.00
5	TRAFFIC CONTROL SYSTEM	1	LS	\$15,500.00	\$15,500.00	\$15,000.00	\$15,000.00
6	CONSTRUCTION AREA SIGNS	1	LS	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
7	CHANNELIZERS	54	EA	\$25.00	\$1,350.00	\$45.00	\$2,430.00
8	TYPE I PEDESTRIAN BARRICADE	2	EA	\$660.00	\$1,320.00	\$650.00	\$1,300.00
9	TYPE III BARRICADE	365	LF	\$32.50	\$11,862.50	\$32.00	\$11,680.00
10	REMOVE EXISTING CONCRETE FACILITIES	1	LS	\$15,250.00	\$15,250.00	\$15,000.00	\$15,000.00
11	REMOVE EXISTING FENCE	1	LS	\$3,100.00	\$3,100.00	\$3,500.00	\$3,500.00
12	CLEARING AND GRUBBING	1	LS	\$23,500.00	\$23,500.00	\$40,000.00	\$40,000.00
13	DEMOLISH AND REMOVE EXISTING RESIDENCE (at S. MAIN STREET)	1	LS	\$26,000.00	\$26,000.00	\$30,000.00	\$30,000.00
14	FINISHING ROADWAY	1	LS	\$8,500.00	\$8,500.00	\$37,000.00	\$37,000.00
15	ROADWAY EXCAVATION	29916	CY	\$3.80	\$113,680.80	\$4.00	\$119,664.00
16	AGGREGATE BASE (CLASS 2)	11840	CY	\$26.40	\$312,576.00	\$28.50	\$337,440.00
17	CONTROLLED LOW STRENGTH MATERIAL	27	CY	\$175.00	\$4,725.00	\$115.00	\$3,105.00
18	VARIABLE DEPTH ASPHALT CONCRETE	1500	SF	\$2.25	\$3,375.00	\$3.30	\$4,950.00
19	ASPHALT CONCRETE TYPE A	11990	TON	\$57.00	\$683,430.00	\$52.00	\$623,480.00
20	PEDESTRIAN / BICYCLE PATH	26267	SF	\$2.00	\$52,534.00	\$1.60	\$42,027.20
21	ROADSIDE SIGN (1-POST)	34	EA	\$175.00	\$5,950.00	\$185.00	\$6,290.00
22	ROADSIDE SIGN (STRAP & SADDLE METHOD)	20	EA	\$165.00	\$3,300.00	\$175.00	\$3,500.00
23	SALVAGE ROADSIDE SIGN	11	EA	\$15.00	\$165.00	\$15.00	\$165.00
24	VERTICAL CURB & GUTTER	7870	LF	\$12.75	\$100,342.50	\$12.00	\$94,440.00
25	MEDIAN CURB A-1 (CITY STD ST-34)	5156	LF	\$9.25	\$47,693.00	\$11.80	\$60,840.80
26	MEDIAN CURB A-2 (CITY STD ST-34)	4370	LF	\$10.50	\$45,885.00	\$12.00	\$52,440.00
27	PCC SIDEWALK	26525	SF	\$3.75	\$99,468.75	\$3.00	\$79,575.00
28	CURB RAMP	14	EA	\$550.00	\$7,700.00	\$1,200.00	\$16,800.00
29	RIVER ROCK SET IN CONCRETE	2011	SF	\$6.00	\$12,066.00	\$5.00	\$10,055.00
30	12-inch STORM DRAIN PIPE (DICP)	212	LF	\$71.00	\$15,052.00	\$65.00	\$13,780.00

	CONTRACTOR/CITY				GE REED DESTO		OMPANY CKTON
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
31	12-inch STORM DRAIN PIPE (CLASS III RCP)	1352	LF	\$41.50	\$56,108.00	\$33.00	\$44,616.00
32	15-inch STORM DRAIN PIPE (CLASS III RCP)	74	LF	\$42.50	\$3,145.00	\$35.00	\$2,590.00
33	18-inch STORM DRAIN PIPE (CLASS III RCP)	1940	LF	\$30.00	\$58,200.00	\$31.00	\$60,140.00
34	24-inch STORM DRAIN PIPE (CLASS III RCP)	570	LF	\$75.00	\$42,750.00	\$59.00	\$33,630.00
35	CALTRANS TYPE GO STORM DRAIN INLET	27	EA	\$2,025.00	\$54,675.00	\$1,750.00	\$47,250.00
36	CITY STANDARD STORM DRAIN MANHOLE	22	EA	\$2,525.00	\$55,550.00	\$2,350.00	\$51,700.00
37	CITY STD SANITARY SEWER MANHOLE	8	EA	\$2,725.00	\$21,800.00	\$2,300.00	\$18,400.00
38	8-inch SANITARY SEWER LINE	1735	LF	\$27.00	\$46,845.00	\$19.00	\$32,965.00
39	12-inch SANITARY SEWER LINE	830	LF	\$68.00	\$56,440.00	\$99.00	\$82,170.00
40	ADJUST MANHOLE & UTILITY BOXES TO GRADE	1	LS	\$11,100.00	\$11,100.00	\$4,000.00	\$4,000.00
41	6-inch WATER PIPE	320	LF	\$22.25	\$7,120.00	\$18.00	\$5,760.00
42	8-inch WATER PIPE	130	LF	\$25.25	\$3,282.50	\$43.00	\$5,590.00
43	12-inch WATER PIPE	2885	LF	\$39.00	\$112,515.00	\$35.00	\$100,975.00
44	FIRE HYDRANT ASSEMBLY	5	EA	\$2,025.00	\$10,125.00	\$2,800.00	\$14,000.00
45	6-inch WATER VALVE	8	EA	\$1,115.00	\$8,920.00	\$900.00	\$7,200.00
46	8-inch WATER VALVE	1	EA	\$1,415.00	\$1,415.00	\$1,200.00	\$1,200.00
47	12-inch WATER VALVE	9	EA	\$2,125.00	\$19,125.00	\$2,000.00	\$18,000.00
48	WATER MAIN BLOWOFF	4	EA	\$2,025.00	\$8,100.00	\$1,600.00	\$6,400.00
49	AIR RELEASE VALVE	1	EA	\$1,925.00	\$1,925.00	\$1,700.00	\$1,700.00
50	REMOVE EXISTING DRAINAGE INLET	3	EA	\$455.00	\$1,365.00	\$400.00	\$1,200.00
51	ABANDON STORM DRAIN PIPE	230	LF	\$13.70	\$3,151.00	\$13.00	\$2,990.00
52	REMOVE FIRE HYDRANT	1	EA	\$505.00	\$505.00	\$450.00	\$450.00
53	PAVEMENT STRIPE - DETAIL 10	6195	LF	\$0.35	\$2,168.25	\$0.36	\$2,230.20
54	PAVEMENT STRIPE - DETAIL 23	81	LF	\$1.20	\$97.20	\$1.25	\$101.25
55	PAVEMENT STRIPE - DETAIL 27B	430	LF	\$1.00	\$430.00	\$1.05	\$451.50
56	PAVEMENT STRIPE - DETAIL 38C	3232	LF	\$1.20	\$3,878.40	\$1.25	\$4,040.00
57	PAVEMENT STRIPE - DETAIL 40A	103	LF	\$4.05	\$417.15	\$4.20	\$432.60
58	12-inch WHITE THERMOPLASTIC STRIPE	1007	LF	\$2.25	\$2,265.75	\$2.35	\$2,366.45
59	12-inch YELLOW THERMOPLASTIC STRIPE	503	LF	\$2.25	\$1,131.75	\$2.35	\$1,182.05
60	TYPE III ARROW (THERMOPLASTIC)	21	EA	\$126.00	\$2,646.00	\$130.00	\$2,730.00
61	4-inch WHITE PAINTED STRIPE	50	LF	\$2.00	\$100.00	\$2.10	\$105.00

	CONTRACTOR/CITY				GE REED DESTO	DSS COMPANY STOCKTON		
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	
62	4-inch YELLOW PAINTED STRIPE	630	LF	\$2.00	\$1,260.00	\$2.10	\$1,323.00	
63	TYPE III ARROW (WHITE PAINTED)	11	EA	\$76.00	\$836.00	\$80.00	\$880.00	
64	REMOVE EXISTING TRAFFIC STRIPES, MARKINGS, AND PAVEMENT MARKERS	1	LS	\$1,520.00	\$1,520.00	\$1,600.00	\$1,600.00	
65	CITY MONUMENT BOX	3	EA	\$305.00	\$915.00	\$320.00	\$960.00	
66	6-inch CONDUITS (FUTURE USE)	480	LF	\$9.40	\$4,512.00	\$10.00	\$4,800.00	
67	CONSTRUCTION SURVEYS AND SETTING STAKES	1	LS	\$24,500.00	\$24,500.00	\$30,000.00	\$30,000.00	
68	STREET LIGHTING	1	LS	\$138,000.00	\$138,000.00	\$210,000.00	\$210,000.00	
69	TRAFFIC SIGNAL SYSTEM (ATHERTON / PAGOLA)	1	LS	\$198,000.00	\$198,000.00	\$148,000.00	\$148,000.00	
70	IRRIGATION SYSTEM	1	LS	\$186,500.00	\$186,500.00	\$192,000.00	\$192,000.00	
71	PLANTINGS	1	LS	\$197,500.00	\$197,500.00	\$143,000.00	\$143,000.00	
72	120-DAY MAINTENANCE PERIOD	1	LS	\$4,350.00	\$4,350.00	\$4,000.00	\$4,000.00	
73	TRENCHING (JOINT TRENCH)	3420	LF	\$15.60	\$53,352.00	\$16.00	\$54,720.00	
74	17" x 30" SPLICE BOX	1	EA	\$440.00	\$440.00	\$450.00	\$450.00	
75	4'-6" x 8'-6" VAULT	2	EA	\$7,500.00	\$15,000.00	\$7,500.00	\$15,000.00	
76	TRANSFORMER and CONCRETE PAD	1	EA	\$2,195.00	\$2,195.00	\$2,300.00	\$2,300.00	
77	3" DB 120 PVC with PULL TAPE	20	LF	\$10.10	\$202.00	\$10.50	\$210.00	
78	4" DB 120 PVC with PULL TAPE	60	LF	\$7.60	\$456.00	\$7.75	\$465.00	
79	6" DB 120 PVC with PULL TAPE	2240	LF	\$5.75	\$12,880.00	\$6.00	\$13,440.00	
80	4" HP GAS PL MAIN	385	LF	\$11.15	\$4,292.75	\$7.50	\$2,887.50	
81	6" HP GAS PL MAIN	2018		\$11.15	\$22,500.70		\$24,216.00	
82	GAS TIE-INS	7	EA	\$920.00	\$6,440.00	\$950.00	\$6,650.00	
83	ELECTRICAL SYSTEM	1	LS	\$23,700.00	\$23,700.00	\$25,000.00	\$25,000.00	
84	TELEPHONE SYSTEM		LS	\$33,750.00	\$33,750.00	\$35,000.00	\$35,000.00	
	TOT	AL BAS	SE BID		\$3,168,398.00		\$3,214,428.55	

	CONTRACTOR/CITY				CONSTRUCTION CKTON		EVADA CONST RKS NV		GRADE RMORE
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION	1	LS	\$68,000.00	\$68,000.00	\$106,998.50	\$106,998.50	\$80,000.00	\$80,000.00
2	NOTICE OF INTENT	1	LS	\$800.00	\$800.00	\$800.00	\$800.00	\$500.00	\$500.00
3	PERMIT PREPARATION	1	LS	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	WATER POLLUTION CONTROL	1	LS	\$32,000.00	\$32,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
5	TRAFFIC CONTROL SYSTEM	1	LS	\$14,000.00	\$14,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
6	CONSTRUCTION AREA SIGNS	1	LS	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00
7	CHANNELIZERS	54	EA	\$25.00	\$1,350.00	\$37.00	\$1,998.00	\$40.00	\$2,160.00
8	TYPE I PEDESTRIAN BARRICADE	2	EA	\$260.00	\$520.00	\$745.00	\$1,490.00	\$500.00	\$1,000.00
9	TYPE III BARRICADE	365	LF	\$21.00	\$7,665.00	\$20.00	\$7,300.00	\$30.00	\$10,950.00
10	REMOVE EXISTING CONCRETE FACILITIES	1	LS	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
11	REMOVE EXISTING FENCE	1	LS	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00
12	CLEARING AND GRUBBING	1	LS	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
13	DEMOLISH AND REMOVE EXISTING RESIDENCE (at S. MAIN STREET)	1	LS	\$21,500.00	\$21,500.00	\$25,000.00	\$25,000.00	\$23,000.00	\$23,000.00
14	FINISHING ROADWAY	1	LS	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
15	ROADWAY EXCAVATION	29916	CY	\$4.00	\$119,664.00	\$4.00	\$119,664.00	\$5.00	\$149,580.00
16	AGGREGATE BASE (CLASS 2)	11840	CY	\$29.00	\$343,360.00	\$30.00	\$355,200.00	\$27.00	\$319,680.00
17	CONTROLLED LOW STRENGTH MATERIAL	27	CY	\$105.00	\$2,835.00	\$150.00	\$4,050.00	\$175.00	\$4,725.00
18	VARIABLE DEPTH ASPHALT CONCRETE	1500	SF	\$3.00	\$4,500.00	\$2.30	\$3,450.00	\$4.00	\$6,000.00
19	ASPHALT CONCRETE TYPE A	11990	TON	\$59.00	\$707,410.00	\$58.50	\$701,415.00	\$64.00	\$767,360.00
20	PEDESTRIAN / BICYCLE PATH	26267	SF	\$1.70	\$44,653.90	\$2.90	\$76,174.30	\$2.60	\$68,294.20
21	ROADSIDE SIGN (1-POST)	34	EA	\$175.00	\$5,950.00	\$250.00	\$8,500.00	\$250.00	\$8,500.00
22	ROADSIDE SIGN (STRAP & SADDLE METHOD)	20	EA	\$165.00	\$3,300.00	\$100.00	\$2,000.00	\$110.00	\$2,200.00
23	SALVAGE ROADSIDE SIGN	11	EA	\$15.00	\$165.00	\$65.00	\$715.00	\$12.00	\$132.00
24	VERTICAL CURB & GUTTER	7870	LF	\$9.50	\$74,765.00	\$14.00	\$110,180.00	\$15.00	\$118,050.00
25	MEDIAN CURB A-1 (CITY STD ST-34)	5156	LF	\$9.00	\$46,404.00	\$12.00	\$61,872.00	\$18.00	\$92,808.00
26	MEDIAN CURB A-2 (CITY STD ST-34)	4370	LF	\$11.00	\$48,070.00	\$13.00	\$56,810.00	\$18.00	\$78,660.00
27	PCC SIDEWALK	26525	SF	\$3.20	\$84,880.00	\$4.00	\$106,100.00	\$4.00	\$106,100.00
28	CURB RAMP	14	EA	\$1,700.00	\$23,800.00	\$950.00	\$13,300.00	\$900.00	\$12,600.00
29	RIVER ROCK SET IN CONCRETE	2011	SF	\$8.00	\$16,088.00	\$11.25	\$22,623.75	\$10.00	\$20,110.00
30	12-inch STORM DRAIN PIPE (DICP)	212	LF	\$54.00	\$11,448.00	\$110.00	\$23,320.00	\$86.00	\$18,232.00

	CONTRACTOR/CITY				CONSTRUCTION CKTON	_	EVADA CONST RKS NV		GRADE RMORE
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
31	12-inch STORM DRAIN PIPE (CLASS III RCP)	1352	LF	\$34.00	\$45,968.00	\$43.00	\$58,136.00	\$39.00	\$52,728.00
32	15-inch STORM DRAIN PIPE (CLASS III RCP)	74	LF	\$38.00	\$2,812.00	\$44.00	\$3,256.00	\$49.00	\$3,626.00
33	18-inch STORM DRAIN PIPE (CLASS III RCP)	1940	LF	\$30.00	\$58,200.00	\$45.00	\$87,300.00	\$38.00	\$73,720.00
34	24-inch STORM DRAIN PIPE (CLASS III RCP)	570	LF	\$42.00	\$23,940.00	\$78.00	\$44,460.00	\$50.00	\$28,500.00
35	CALTRANS TYPE GO STORM DRAIN INLET	27	EA	\$1,600.00	\$43,200.00	\$2,500.00	\$67,500.00	\$3,000.00	\$81,000.00
36	CITY STANDARD STORM DRAIN MANHOLE	22	EA	\$2,000.00	\$44,000.00	\$2,600.00	\$57,200.00	\$2,300.00	\$50,600.00
37	CITY STD SANITARY SEWER MANHOLE	8	EA	\$2,200.00	\$17,600.00	\$2,800.00	\$22,400.00	\$2,500.00	\$20,000.00
38	8-inch SANITARY SEWER LINE	1735	LF	\$58.00	\$100,630.00	\$53.00	\$91,955.00	\$29.00	\$50,315.00
39	12-inch SANITARY SEWER LINE	830	LF	\$71.00	\$58,930.00	\$71.00	\$58,930.00	\$67.00	\$55,610.00
40	ADJUST MANHOLE & UTILITY BOXES TO GRADE	1	LS	\$6,200.00	\$6,200.00	\$15,000.00	\$15,000.00	\$3,200.00	\$3,200.00
41	6-inch WATER PIPE	320	LF	\$20.00	\$6,400.00	\$23.00	\$7,360.00	\$27.00	\$8,640.00
42	8-inch WATER PIPE	130	LF	\$41.00	\$5,330.00	\$27.00	\$3,510.00	\$28.00	\$3,640.00
43	12-inch WATER PIPE	2885	LF	\$34.00	\$98,090.00	\$46.00	\$132,710.00	\$43.00	\$124,055.00
44	FIRE HYDRANT ASSEMBLY	5	EA	\$2,700.00	\$13,500.00	\$2,100.00	\$10,500.00	\$2,400.00	\$12,000.00
45	6-inch WATER VALVE	8	EA	\$800.00	\$6,400.00	\$1,200.00	\$9,600.00	\$1,000.00	\$8,000.00
46	8-inch WATER VALVE	1	EA	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00
47	12-inch WATER VALVE	9	EA	\$1,700.00	\$15,300.00	\$2,200.00	\$19,800.00	\$2,400.00	\$21,600.00
48	WATER MAIN BLOWOFF	4	EA	\$1,400.00	\$5,600.00	\$2,100.00	\$8,400.00	\$2,600.00	\$10,400.00
49	AIR RELEASE VALVE	1	EA	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00	\$2,300.00	\$2,300.00
50	REMOVE EXISTING DRAINAGE INLET	3	EA	\$250.00	\$750.00	\$500.00	\$1,500.00	\$340.00	\$1,020.00
51	ABANDON STORM DRAIN PIPE	230	LF	\$3.70	\$851.00	\$14.00	\$3,220.00	\$26.00	\$5,980.00
52	REMOVE FIRE HYDRANT	1	EA	\$410.00	\$410.00	\$500.00	\$500.00	\$495.00	\$495.00
53	PAVEMENT STRIPE - DETAIL 10	6195	LF	\$0.35	\$2,168.25	\$0.35	\$2,168.25	\$0.35	\$2,168.25
54	PAVEMENT STRIPE - DETAIL 23	81	LF	\$1.20	\$97.20	\$1.20	\$97.20	\$1.15	\$93.15
55	PAVEMENT STRIPE - DETAIL 27B	430	LF	\$1.00	\$430.00	\$1.00	\$430.00	\$1.00	\$430.00
56	PAVEMENT STRIPE - DETAIL 38C	3232	LF	\$1.20	\$3,878.40	\$1.20	\$3,878.40	\$1.15	\$3,716.80
57	PAVEMENT STRIPE - DETAIL 40A	103	LF	\$4.00	\$412.00	\$4.20	\$432.60	\$4.00	\$412.00
58	12-inch WHITE THERMOPLASTIC STRIPE	1007	LF	\$2.30	\$2,316.10	\$2.30	\$2,316.10	\$2.20	\$2,215.40
59	12-inch YELLOW THERMOPLASTIC STRIPE	503	LF	\$2.30	\$1,156.90	\$2.30	\$1,156.90	\$2.20	\$1,106.60
60	TYPE III ARROW (THERMOPLASTIC)	_	EA	\$130.00	\$2,730.00	\$125.00	\$2,625.00	\$120.00	\$2,520.00
61	4-inch WHITE PAINTED STRIPE	50	LF	\$2.10	\$105.00	\$2.00	\$100.00	\$2.00	\$100.00

	CONTRACTOR/CITY			TEICHERT CONSTRUCTION STOCKTON		_	EVADA CONST RKS NV	TOP GRADE LIVERMORE	
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
62	4-inch YELLOW PAINTED STRIPE	630	LF	\$2.10	\$1,323.00	\$2.00	\$1,260.00	\$2.00	\$1,260.00
63	TYPE III ARROW (WHITE PAINTED)	11	EA	\$75.00	\$825.00	\$75.00	\$825.00	\$73.00	\$803.00
64	REMOVE EXISTING TRAFFIC STRIPES, MARKINGS, AND PAVEMENT MARKERS	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
65	CITY MONUMENT BOX	3	EA	\$300.00	\$900.00	\$300.00	\$900.00	\$290.00	\$870.00
66	6-inch CONDUITS (FUTURE USE)	480	LF	\$11.00	\$5,280.00	\$10.00	\$4,800.00	\$7.00	\$3,360.00
67	CONSTRUCTION SURVEYS AND SETTING STAKES	1	LS	\$30,000.00	\$30,000.00	\$27,500.00	\$27,500.00	\$20,000.00	\$20,000.00
68	STREET LIGHTING	1	LS	\$138,000.00	\$138,000.00	\$140,000.00	\$140,000.00	\$160,000.00	\$160,000.00
69	TRAFFIC SIGNAL SYSTEM (ATHERTON / PAGOLA)	1	LS	\$200,000.00	\$200,000.00	\$210,000.00	\$210,000.00	\$200,000.00	\$200,000.00
70	IRRIGATION SYSTEM	1	LS	\$165,000.00	\$165,000.00	\$195,000.00	\$195,000.00	\$190,000.00	\$190,000.00
71	PLANTINGS	1	LS	\$195,000.00	\$195,000.00	\$140,000.00	\$140,000.00	\$140,000.00	\$140,000.00
72	120-DAY MAINTENANCE PERIOD	1	LS	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
73	TRENCHING (JOINT TRENCH)	3420	LF	\$25.00	\$85,500.00	\$16.00	\$54,720.00	\$23.00	\$78,660.00
74	17" x 30" SPLICE BOX	1	EA	\$600.00	\$600.00	\$450.00	\$450.00	\$1,000.00	\$1,000.00
75	4'-6" x 8'-6" VAULT	2	EA	\$7,100.00	\$14,200.00	\$8,000.00	\$16,000.00	\$6,000.00	\$12,000.00
76	TRANSFORMER and CONCRETE PAD	1	EA	\$7,100.00	\$7,100.00	\$2,300.00	\$2,300.00	\$7,000.00	\$7,000.00
77	3" DB 120 PVC with PULL TAPE	20	LF	\$3.00	\$60.00	\$10.50	\$210.00	\$4.00	\$80.00
78	4" DB 120 PVC with PULL TAPE	60	LF	\$5.00	\$300.00	\$8.00	\$480.00	\$5.00	\$300.00
79	6" DB 120 PVC with PULL TAPE	2240	LF	\$6.70	\$15,008.00	\$6.00	\$13,440.00	\$7.00	\$15,680.00
80	4" HP GAS PL MAIN	385	LF	\$10.00	\$3,850.00	\$11.00	\$4,235.00	\$10.00	\$3,850.00
81	6" HP GAS PL MAIN	2018	LF	\$12.00	\$24,216.00	\$11.00	\$22,198.00	\$14.00	\$28,252.00
82	GAS TIE-INS	7	EA	\$3,500.00	\$24,500.00	\$1,000.00	\$7,000.00	\$2,500.00	\$17,500.00
83	ELECTRICAL SYSTEM	1	LS	\$21,000.00	\$21,000.00	\$24,000.00	\$24,000.00	\$25,000.00	\$25,000.00
84	TELEPHONE SYSTEM	1	LS	\$38,000.00	\$38,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
	TO	TAL BAS	SE BID		\$3,299,894.75		\$3,523,920.00		\$3,526,947.40

	CONTRACTOR/CITY				DENT CONST AMENTO		NSTRUCTION RMORE		ONSTRUCTION ONVILLE
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
1	MOBILIZATION	1	LS	\$250,000.00	\$250,000.00	\$254,000.00	\$254,000.00	\$180,000.00	\$180,000.00
2	NOTICE OF INTENT	1	LS	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
3	PERMIT PREPARATION	1	LS	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
4	WATER POLLUTION CONTROL	1	LS	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00
5	TRAFFIC CONTROL SYSTEM	1	LS	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$75,000.00	\$75,000.00
6	CONSTRUCTION AREA SIGNS	1	LS	\$1,600.00	\$1,600.00	\$2,100.00	\$2,100.00	\$7,500.00	\$7,500.00
7	CHANNELIZERS	54	EA	\$25.00	\$1,350.00	\$25.00	\$1,350.00	\$50.00	\$2,700.00
8	TYPE I PEDESTRIAN BARRICADE	2	EA	\$250.00	\$500.00	\$700.00	\$1,400.00	\$1,500.00	\$3,000.00
9	TYPE III BARRICADE	365	LF	\$25.00	\$9,125.00	\$20.00	\$7,300.00	\$20.00	\$7,300.00
10	REMOVE EXISTING CONCRETE FACILITIES	1	LS	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
11	REMOVE EXISTING FENCE	1	LS	\$600.00	\$600.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
12	CLEARING AND GRUBBING	1	LS	\$19,000.00	\$19,000.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
13	DEMOLISH AND REMOVE EXISTING RESIDENCE (at S. MAIN STREET)	1	LS	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
14	FINISHING ROADWAY	1	LS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$75,000.00	\$75,000.00
15	ROADWAY EXCAVATION	29916	CY	\$8.50	\$254,286.00	\$5.00	\$149,580.00	\$5.00	\$149,580.00
16	AGGREGATE BASE (CLASS 2)	11840	CY	\$28.00	\$331,520.00	\$30.00	\$355,200.00	\$30.00	\$355,200.00
17	CONTROLLED LOW STRENGTH MATERIAL	27	CY	\$210.00	\$5,670.00	\$150.00	\$4,050.00	\$400.00	\$10,800.00
18	VARIABLE DEPTH ASPHALT CONCRETE	1500	SF	\$6.00	\$9,000.00	\$6.00	\$9,000.00	\$2.50	\$3,750.00
19	ASPHALT CONCRETE TYPE A	11990	TON	\$61.00	\$731,390.00	\$62.00	\$743,380.00	\$60.00	\$719,400.00
20	PEDESTRIAN / BICYCLE PATH	26267	SF	\$2.00	\$52,534.00	\$3.00	\$78,801.00	\$2.50	\$65,667.50
21	ROADSIDE SIGN (1-POST)	34	EA	\$175.00	\$5,950.00	\$240.00	\$8,160.00	\$175.00	\$5,950.00
22	ROADSIDE SIGN (STRAP & SADDLE METHOD)	20	EA	\$165.00	\$3,300.00	\$100.00	\$2,000.00	\$165.00	\$3,300.00
23	SALVAGE ROADSIDE SIGN	11	EA	\$15.00	\$165.00	\$60.00	\$660.00	\$15.00	\$165.00
24	VERTICAL CURB & GUTTER	7870	LF	\$13.00	\$102,310.00	\$12.00	\$94,440.00	\$10.00	\$78,700.00
25	MEDIAN CURB A-1 (CITY STD ST-34)	5156	LF	\$13.00	\$67,028.00	\$14.00	\$72,184.00	\$8.00	\$41,248.00
26	MEDIAN CURB A-2 (CITY STD ST-34)	4370	LF	\$13.00	\$56,810.00	\$14.00	\$61,180.00	\$10.00	\$43,700.00
27	PCC SIDEWALK	26525	SF	\$3.35	\$88,858.75	\$4.00	\$106,100.00	\$4.00	\$106,100.00
28	CURB RAMP	14	EA	\$1,200.00	\$16,800.00	\$1,100.00	\$15,400.00	\$2,500.00	\$35,000.00
29	RIVER ROCK SET IN CONCRETE	2011	SF	\$9.00	\$18,099.00	\$12.00	\$24,132.00	\$5.00	\$10,055.00
30	12-inch STORM DRAIN PIPE (DICP)	212	LF	\$70.00	\$14,840.00	\$70.00	\$14,840.00	\$30.00	\$6,360.00

	CONTRACTOR/CITY			INDEPENDENT CONST SACRAMENTO			NSTRUCTION RMORE	GRANITE CONSTRUCTION WATSONVILLE	
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
31	12-inch STORM DRAIN PIPE (CLASS III RCP)	1352	LF	\$23.00	\$31,096.00	\$29.00	\$39,208.00	\$20.00	\$27,040.00
32	15-inch STORM DRAIN PIPE (CLASS III RCP)	74	LF	\$23.00	\$1,702.00	\$42.00	\$3,108.00	\$20.00	\$1,480.00
33	18-inch STORM DRAIN PIPE (CLASS III RCP)	1940	LF	\$24.00	\$46,560.00	\$35.00	\$67,900.00	\$30.00	\$58,200.00
34	24-inch STORM DRAIN PIPE (CLASS III RCP)	570	LF	\$40.00	\$22,800.00	\$46.00	\$26,220.00	\$50.00	\$28,500.00
35	CALTRANS TYPE GO STORM DRAIN INLET	27	EA	\$2,500.00	\$67,500.00	\$2,520.00	\$68,040.00	\$2,000.00	\$54,000.00
36	CITY STANDARD STORM DRAIN MANHOLE	22	EA	\$2,200.00	\$48,400.00	\$2,500.00	\$55,000.00	\$2,000.00	\$44,000.00
37	CITY STD SANITARY SEWER MANHOLE	8	EA	\$3,400.00	\$27,200.00	\$2,700.00	\$21,600.00	\$2,000.00	\$16,000.00
38	8-inch SANITARY SEWER LINE	1735	LF	\$19.00	\$32,965.00	\$22.00	\$38,170.00	\$40.00	\$69,400.00
39	12-inch SANITARY SEWER LINE	830	LF	\$70.00	\$58,100.00	\$106.00	\$87,980.00	\$50.00	\$41,500.00
40	ADJUST MANHOLE & UTILITY BOXES TO GRADE	1	LS	\$7,000.00	\$7,000.00	\$11,000.00	\$11,000.00	\$30,000.00	\$30,000.00
41	6-inch WATER PIPE	320	LF	\$30.00	\$9,600.00	\$22.00	\$7,040.00	\$30.00	\$9,600.00
42	8-inch WATER PIPE	130	LF	\$84.00	\$10,920.00	\$25.00	\$3,250.00	\$35.00	\$4,550.00
43	12-inch WATER PIPE	2885	LF	\$38.00	\$109,630.00	\$36.00	\$103,860.00	\$45.00	\$129,825.00
44	FIRE HYDRANT ASSEMBLY	5	EA	\$3,900.00	\$19,500.00	\$2,000.00	\$10,000.00	\$3,500.00	\$17,500.00
45	6-inch WATER VALVE	8	EA	\$1,200.00	\$9,600.00	\$1,100.00	\$8,800.00	\$1,000.00	\$8,000.00
46	8-inch WATER VALVE	1	EA	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$1,200.00	\$1,200.00
47	12-inch WATER VALVE	9	EA	\$2,500.00	\$22,500.00	\$2,100.00	\$18,900.00	\$1,500.00	\$13,500.00
48	WATER MAIN BLOWOFF	4	EA	\$2,300.00	\$9,200.00	\$2,000.00	\$8,000.00	\$1,500.00	\$6,000.00
49	AIR RELEASE VALVE	1	EA	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00
50	REMOVE EXISTING DRAINAGE INLET	3	EA	\$1,000.00	\$3,000.00	\$450.00	\$1,350.00	\$500.00	\$1,500.00
51	ABANDON STORM DRAIN PIPE	230	LF	\$20.00	\$4,600.00	\$13.50	\$3,105.00	\$30.00	\$6,900.00
52	REMOVE FIRE HYDRANT	1	EA	\$750.00	\$750.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
53	PAVEMENT STRIPE - DETAIL 10	6195	LF	\$0.35	\$2,168.25	\$0.40	\$2,478.00	\$0.50	\$3,097.50
54	PAVEMENT STRIPE - DETAIL 23	81	LF	\$1.20	\$97.20	\$1.00	\$81.00	\$1.20	\$97.20
55	PAVEMENT STRIPE - DETAIL 27B		LF	\$1.00	\$430.00	\$1.00	\$430.00	\$1.00	\$430.00
56	PAVEMENT STRIPE - DETAIL 38C	3232	LF	\$1.20	\$3,878.40	\$1.25	\$4,040.00	\$1.20	\$3,878.40
57	PAVEMENT STRIPE - DETAIL 40A		LF	\$4.00	\$412.00	\$4.00	\$412.00	\$4.00	\$412.00
58	12-inch WHITE THERMOPLASTIC STRIPE	1007	LF	\$2.25	\$2,265.75	\$2.00	\$2,014.00	\$2.25	\$2,265.75
59	12-inch YELLOW THERMOPLASTIC STRIPE		LF	\$2.25	\$1,131.75	\$2.00	\$1,006.00	\$2.25	\$1,131.75
60	TYPE III ARROW (THERMOPLASTIC)	21	EA	\$125.00	\$2,625.00	\$125.00	\$2,625.00	\$125.00	\$2,625.00
61	4-inch WHITE PAINTED STRIPE	50	LF	\$2.00	\$100.00	\$2.00	\$100.00	\$2.00	\$100.00

	CONTRACTOR/CITY			INDEPENDENT CONST SACRAMENTO			NSTRUCTION RMORE	_	ONSTRUCTION ONVILLE
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
62	4-inch YELLOW PAINTED STRIPE	630	LF	\$2.00	\$1,260.00	\$2.00	\$1,260.00	\$2.00	\$1,260.00
63	TYPE III ARROW (WHITE PAINTED)	11	EA	\$75.00	\$825.00	\$75.00	\$825.00	\$75.00	\$825.00
64	REMOVE EXISTING TRAFFIC STRIPES, MARKINGS, AND PAVEMENT MARKERS	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
65	CITY MONUMENT BOX	3	EA	\$300.00	\$900.00	\$1,000.00	\$3,000.00	\$300.00	\$900.00
66	6-inch CONDUITS (FUTURE USE)	480	LF	\$25.00	\$12,000.00	\$9.00	\$4,320.00	\$15.00	\$7,200.00
67	CONSTRUCTION SURVEYS AND SETTING STAKES	1	LS	\$15,000.00	\$15,000.00	\$27,000.00	\$27,000.00	\$50,000.00	\$50,000.00
68	STREET LIGHTING	1	LS	\$140,000.00	\$140,000.00	\$136,000.00	\$136,000.00	\$204,000.00	\$204,000.00
69	TRAFFIC SIGNAL SYSTEM (ATHERTON / PAGOLA)	1	LS	\$200,000.00	\$200,000.00	\$197,000.00	\$197,000.00	\$143,000.00	\$143,000.00
70	IRRIGATION SYSTEM	1	LS	\$175,000.00	\$175,000.00	\$187,000.00	\$187,000.00	\$190,000.00	\$190,000.00
71	PLANTINGS	1	LS	\$125,000.00	\$125,000.00	\$138,000.00	\$138,000.00	\$140,000.00	\$140,000.00
72	120-DAY MAINTENANCE PERIOD	1	LS	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
73	TRENCHING (JOINT TRENCH)	3420	LF	\$35.00	\$119,700.00		\$54,720.00	\$35.00	\$119,700.00
74	17" x 30" SPLICE BOX	1	EA	\$500.00	¥	·	\$500.00	\$500.00	\$500.00
75	4'-6" x 8'-6" VAULT	2	EA	\$8,500.00	\$17,000.00	\$8,500.00	\$17,000.00	\$8,500.00	\$17,000.00
76	TRANSFORMER and CONCRETE PAD	1	EA	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
77	3" DB 120 PVC with PULL TAPE	20	LF	\$4.00	\$80.00	\$4.00	\$80.00	\$4.00	\$80.00
78	4" DB 120 PVC with PULL TAPE	60	LF	\$5.00	\$300.00	\$5.00	\$300.00	\$5.00	\$300.00
79	6" DB 120 PVC with PULL TAPE	2240	LF	\$7.50	\$16,800.00	\$7.50	\$16,800.00	\$7.50	\$16,800.00
80	4" HP GAS PL MAIN	385	LF	\$11.00	\$4,235.00	\$11.00	\$4,235.00	\$11.00	\$4,235.00
81	6" HP GAS PL MAIN	2018	LF	\$17.00	\$34,306.00	·	\$34,306.00	\$17.00	\$34,306.00
82	GAS TIE-INS	7	EA	\$2,000.00	\$14,000.00	\$2,000.00	\$14,000.00	\$2,000.00	\$14,000.00
83	ELECTRICAL SYSTEM	1	LS	\$32,000.00	\$32,000.00	\$32,000.00	\$32,000.00	\$35,000.00	\$35,000.00
84	TELEPHONE SYSTEM	1	LS	\$56,000.00	\$56,000.00	\$56,000.00	\$56,000.00	\$60,000.00	+ /
	ТОТ	AL BAS	SE BID		\$3,639,773.10		\$3,650,120.00		\$3,742,814.10

	CONTRACTOR/CITY				REEK QUARRY ERTINO
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
1	MOBILIZATION	1	LS	\$400,000.00	\$400,000.00
2	NOTICE OF INTENT	1	LS	\$2,800.00	\$2,800.00
3	PERMIT PREPARATION	1	LS	\$2,800.00	\$2,800.00
4	WATER POLLUTION CONTROL	1	LS	\$11,000.00	\$11,000.00
5	TRAFFIC CONTROL SYSTEM	1	LS	\$24,000.00	\$24,000.00
6	CONSTRUCTION AREA SIGNS	1	LS	\$2,400.00	\$2,400.00
7	CHANNELIZERS	54	EA	\$28.00	\$1,512.00
8	TYPE I PEDESTRIAN BARRICADE	2	EA	\$750.00	\$1,500.00
9	TYPE III BARRICADE	365	LF	\$36.00	\$13,140.00
10	REMOVE EXISTING CONCRETE FACILITIES	1	LS	\$34,000.00	\$34,000.00
11	REMOVE EXISTING FENCE	1	LS	\$3,000.00	\$3,000.00
12	CLEARING AND GRUBBING	1	LS	\$35,000.00	\$35,000.00
13	DEMOLISH AND REMOVE EXISTING RESIDENCE (at S. MAIN STREET)	1	LS	\$29,000.00	\$29,000.00
14	FINISHING ROADWAY	1	LS	\$45,000.00	\$45,000.00
15	ROADWAY EXCAVATION	29916	CY	\$15.50	\$463,698.00
16	AGGREGATE BASE (CLASS 2)	11840	CY	\$38.00	\$449,920.00
17	CONTROLLED LOW STRENGTH MATERIAL	27	CY	\$300.00	\$8,100.00
18	VARIABLE DEPTH ASPHALT CONCRETE	1500	SF	\$2.50	\$3,750.00
19	ASPHALT CONCRETE TYPE A	11990	TON	\$64.00	\$767,360.00
20	PEDESTRIAN / BICYCLE PATH	26267	SF	\$3.00	\$78,801.00
21	ROADSIDE SIGN (1-POST)	34	EA	\$195.00	\$6,630.00
22	ROADSIDE SIGN (STRAP & SADDLE METHOD)	20	EA	\$185.00	\$3,700.00
23	SALVAGE ROADSIDE SIGN	11	EA	\$17.00	\$187.00
24	VERTICAL CURB & GUTTER	7870	LF	\$12.00	\$94,440.00
25	MEDIAN CURB A-1 (CITY STD ST-34)	5156	LF	\$9.00	\$46,404.00
26	MEDIAN CURB A-2 (CITY STD ST-34)	4370	LF	\$11.00	\$48,070.00
27	PCC SIDEWALK	26525	SF	\$4.00	\$106,100.00
28	CURB RAMP	14	EA	\$800.00	\$11,200.00
29	RIVER ROCK SET IN CONCRETE	2011	SF	\$5.00	\$10,055.00
30	12-inch STORM DRAIN PIPE (DICP)	212	LF	\$78.00	\$16,536.00

	CONTRACTOR/CITY				REEK QUARRY ERTINO
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
31	12-inch STORM DRAIN PIPE (CLASS III RCP)	1352	LF	\$26.00	\$35,152.00
32	15-inch STORM DRAIN PIPE (CLASS III RCP)	74	LF	\$26.00	\$1,924.00
33	18-inch STORM DRAIN PIPE (CLASS III RCP)	1940	LF	\$27.00	\$52,380.00
34	24-inch STORM DRAIN PIPE (CLASS III RCP)	570	LF	\$45.00	\$25,650.00
35	CALTRANS TYPE GO STORM DRAIN INLET	27	EA	\$2,800.00	\$75,600.00
36	CITY STANDARD STORM DRAIN MANHOLE	22	EA	\$2,000.00	\$44,000.00
37	CITY STD SANITARY SEWER MANHOLE	8	EA	\$3,800.00	\$30,400.00
38	8-inch SANITARY SEWER LINE	1735	LF	\$21.00	\$36,435.00
39	12-inch SANITARY SEWER LINE	830	LF	\$78.00	\$64,740.00
40	ADJUST MANHOLE & UTILITY BOXES TO GRADE	1	LS	\$8,000.00	\$8,000.00
41	6-inch WATER PIPE	320	LF	\$33.00	\$10,560.00
42	8-inch WATER PIPE	130	LF	\$100.00	\$13,000.00
43	12-inch WATER PIPE	2885	LF	\$40.00	\$115,400.00
44	FIRE HYDRANT ASSEMBLY	5	EA	\$4,000.00	\$20,000.00
45	6-inch WATER VALVE	8	EA	\$1,250.00	\$10,000.00
46	8-inch WATER VALVE	1	EA	\$1,500.00	\$1,500.00
47	12-inch WATER VALVE	9	EA	\$2,750.00	\$24,750.00
48	WATER MAIN BLOWOFF	4	EA	\$2,500.00	\$10,000.00
49	AIR RELEASE VALVE	1	EA	\$2,800.00	\$2,800.00
50	REMOVE EXISTING DRAINAGE INLET	3	EA	\$1,000.00	\$3,000.00
51	ABANDON STORM DRAIN PIPE	230	LF	\$22.00	\$5,060.00
52	REMOVE FIRE HYDRANT	1	EA	\$850.00	\$850.00
53	PAVEMENT STRIPE - DETAIL 10	6195	LF	\$1.00	\$6,195.00
54	PAVEMENT STRIPE - DETAIL 23	81	LF	\$1.00	\$81.00
55	PAVEMENT STRIPE - DETAIL 27B	430	LF	\$1.00	\$430.00
56	PAVEMENT STRIPE - DETAIL 38C	3232	LF	\$1.25	\$4,040.00
57	PAVEMENT STRIPE - DETAIL 40A	103	LF	\$4.00	\$412.00
58	12-inch WHITE THERMOPLASTIC STRIPE	1007	LF	\$3.00	\$3,021.00
59	12-inch YELLOW THERMOPLASTIC STRIPE	503	LF	\$3.00	\$1,509.00
60	TYPE III ARROW (THERMOPLASTIC)	21	EA	\$125.00	\$2,625.00
61	4-inch WHITE PAINTED STRIPE	50	LF	\$2.00	\$100.00

	CONTRACTOR/CITY				REEK QUARRY ERTINO
ITEM#	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
62	4-inch YELLOW PAINTED STRIPE	630	LF	\$2.00	\$1,260.00
63	TYPE III ARROW (WHITE PAINTED)	11	EA	\$100.00	\$1,100.00
64	REMOVE EXISTING TRAFFIC STRIPES, MARKINGS, AND PAVEMENT MARKERS	1	LS	\$1,700.00	\$1,700.00
65	CITY MONUMENT BOX	3	EA	\$350.00	\$1,050.00
66	6-inch CONDUITS (FUTURE USE)	480	LF	\$30.00	\$14,400.00
67	CONSTRUCTION SURVEYS AND SETTING STAKES	1	LS	\$20,000.00	\$20,000.00
68	STREET LIGHTING	1	LS	\$165,000.00	\$165,000.00
69	TRAFFIC SIGNAL SYSTEM (ATHERTON / PAGOLA)	1	LS	\$225,000.00	\$225,000.00
70	IRRIGATION SYSTEM	1	LS	\$300,000.00	\$300,000.00
71	PLANTINGS	1	LS	\$200,000.00	\$200,000.00
72	120-DAY MAINTENANCE PERIOD	1	LS	\$20,000.00	\$20,000.00
73	TRENCHING (JOINT TRENCH)	3420	LF	\$35.00	\$119,700.00
74	17" x 30" SPLICE BOX	1	EA	\$1,000.00	\$1,000.00
75	4'-6" x 8'-6" VAULT	2	EA	\$7,000.00	\$14,000.00
76	TRANSFORMER and CONCRETE PAD		EA	\$15,000.00	\$15,000.00
77	3" DB 120 PVC with PULL TAPE		LF	\$4.25	\$85.00
78	4" DB 120 PVC with PULL TAPE	60	LF	\$4.25	\$255.00
79	6" DB 120 PVC with PULL TAPE	2240		\$7.50	\$16,800.00
80	4" HP GAS PL MAIN	385	LF	\$11.00	\$4,235.00
81	6" HP GAS PL MAIN	2018		\$16.00	\$32,288.00
82	GAS TIE-INS		EA	\$3,500.00	\$24,500.00
83	ELECTRICAL SYSTEM	1	LS	\$64,000.00	\$64,000.00
84	TELEPHONE SYSTEM		LS	\$26,000.00	\$26,000.00
	TO	OTAL BAS	SE BID		\$4,597,090.00

George Reed

LIST OF SUBCONTRACTORS

The following information is furnished relative to each subcontractor who will perform work or labor or rend er services to the undersigned in and about the cons truction of the project in the amount in excess of one-half of one percent (0.5%) of the total amount of the bid or \$10,000.00, whichever is greater.

The undersigned agrees that any portion of the work in ex cess of one-half of one percent (0.5%) of the total amount of this bid or \$10,000.00, whichever is greater, and for which no subcontractor is designated herein, will be performed by the undersigned.

no subcontractor is designated notern, with 50 persons							
	SUBCONTRACTOR	% OF TOTAL	WORK TO BE				
NAME & ADDRESS		CONTRACT	PERFORMED				
OF SUBCONTRACTOR	LICENSE NO.	CONTRACT	STREDENL				
CHAISA Company Road			PANEMENT MARLIERS				
FLENONT CA 74557	374600	\	PAUENEN! POPULATE				
ALA WALLOWER CONSTRUCTION		5	THENT THENCH UTTETES				
INIT C MACIA AUS NUC	605334						
REAM, CA 95 Stole		+					
EMBET Constructions, Jack 101642 DIENSONT UNIEY Cascie STOCKTON CA 95209	779781	12	LANDSCAPENG				
STOCKTON CA 75409			DENO GEST DENCE				
D.C. MOLONEY, INC. P.O. BOX 30324	7107/17		CLEAR + GAUB (PARTEAL)				
STACKTON, CA 45213	718243						
PASSTON PERSUTURY ROAD			UNDELGLEUND				
LATHEND CA 95330	367660		OND				
A a when h		10	UNDERLAND				
FAPLE, CA 95317	816079		ONISERCEDIO				
DANTER EXCHURTION							
PACEFOC ESCAUSIZON FIRE KENT ST. 95624 EIK. GAOVE, CA 95624	694400	10	Electrical				
DIR. GROVE, CH TOUR	H		CONSTNUTION				
PLEMIER ST. CENTER ST.	b5-67543		STALENIO				
Turlich CA 95380	LS 6953						
	2 6122						
		·	A THE PARTY OF THE				
	Name of the last o						
		-	the state of the s				

DSS

LIST OF SUBCONTRACTORS

The following information is furnished relative to each subcontractor who will perform work or labor or render services to the undersigned in and about the construction of the project in the amount in excess of one-half of one percent (0.5%) of the total amount of the bid or \$10,000.00, whichever is greater.

The undersigned agrees that any portion of the work in ex cess of one-half of one percent (0.5%) of the total amount of this bid or \$10,000.00, whichever is greater, and for which no subcontractor is designated herein, will be performed by the undersigned.

NAME & ADDRESS OF SUBCONTRACTOR	SUBCONTRACTOR LICENSE NO.	% OF TOTAL CONTRACT	WORK TO BE PERFORMED
RIPON, CA	605336		Electrical
DULEY'S MODESTO, CA	890901	10%	Landscape
W.C. MALONEY STOCKTON, CA	718243	1.87.	Demo
CHRIST COMPANY STOCKTON CA.	374600	1.4%	Striping
PREMIER ENGINEEUM TURIOCK, LA	Nha	.80%	Surveying

Teichert

LIST OF SUBCONTRACTORS

The following information is furnished relative to each subcontractor who will perform work or labor or rend er services to the undersigned in and about the cons truction of the project in the amount in excess of one-half of one percent (0.5%) of the total amount of the bid or \$10,000.00, whichever is greater.

The undersigned agrees that any portion of the work in ex cess of one-half of one percent (0.5%) of the total amount of this bid or \$10,000.00, whichever is greater, and for which no subcontractor is designated herein, will be performed by the undersigned.

NAME & ADDRESS	SUBCONTRACTOR	% OF TOTAL	WORK TO BE
OF SUBCONTRACTOR	LICENSE NO.	CONTRACT	PERFORMED
CHRISP CO FREMONT, CA	314600	1%	STRIPING & SIGNS DEMO &
TRIANGE EXCAV.	599176	1.5%	CLEARING
EMERT CONST. STOCKTON CO	779781	11%	
ANGELO UTILITIES			LANDSCAPE
STOCKTON CA	828411	1%	LOINT TRENCH
ELKGROVE CO	694400	10%	SIGNALS &